LAMPIRAN



Perhitungan kekerasan vickers dengan beban identor 100 gf (0,1 kgf) dan lama
waktu pembebanan 10 detik.
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- Distribusi 3:
Diketahui : d; : 41 = 0,0041 mm
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e Suhu 350°C
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d,: 40u = 0,0040 mm
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109,05 kg/mm?

- Distribusi 3 : d; : 41 =0,0041 mm
d,:41,2=0,00412 mm
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= 116, 15 kg/mm?
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Suhu 450°C
Distribusi 1 : d; : 46,51 = 0,00465 mm
d; : 424 =0,0042 mm

(1,854).0,1kg
Jawab: HVN == (46:5H+42H

2 )

0,1854
0,0019 mm

= 97,57 kg/mm?

Distribusi 2 : d; : 43 = 0,0043 mm
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Distribusi 3 : d; : 40,3 = 0,00403 mm
dy : 40 p=0,0040 mm
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= 105,45 kg/mm?
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